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QUESTION 1

Which is the minimum vSphere Distributed Switch version needed to support Network Health Check?
A.6.5

B.5.1

C.41

D.55

Correct Answer: B

QUESTION 2

VCSA backup can be backed up and sent to different location via several different protocols. Which are three of the
supported protocols? (Choose three.)

A. CIFS
B. SCP
C.HTTP
D. FTPS
E. AFP

Correct Answer: BCD

QUESTION 3

Which guest operating system supports PVRDMA?
A. Linux (32-Bit)

B. Linux (64-Bit)

C. Windows (64-Bit)

D. Windows (32-Bit)

Correct Answer: B

The guest operating system that supports PVYRDMA is Linux 64 bit.Guest OS Linux (64-bit)

QUESTION 4



To enable Predictive DRS, which three steps must be taken? (Choose three.)

A. vRealize Log Insight must be enabled and configured to watch for Predictive DRS moves.
B. The corresponding virtual machines must be tagged for Predictive DRS use.

C. A supported version of vRealize Operations Manager must be configured and enabled.
D. The Predictive DRS check box must be enabled.

E. DRS must be enabled.

Correct Answer: CDE

QUESTION 5

An administrator discovers that virtual machine migrations with encrypted vMotion have failed. Which action can resolve
this issue?

A. Use vSphere Update Manager to upgrade all hosts to ESXi 6.5
B. Install a USB decryption dongle on all hosts in the cluster

C. Disable Strict Lockdown mode

D. Use esxcli to enable encrypted vMotion

Correct Answer: A

QUESTION 6

Which two clients could an Administrator use to add a new identity source to the vCenter Single Sign-On domain?
(Choose two.)

A. vSphere Client

B. Platform Services Controller Web Interface
C. vSphere Appliance Management Interface
D. vSphere Web Client

E. VMware Host Client

Correct Answer: BC

QUESTION 7
An administrator notices that a virtual machine running SQL Server is not performing as expected. Upon

checking the logs, the administrator sees the following error:



vmware.log> vmx| W110: NUMA and VCPU hot add are incompatible. Forcing UMA
How can the administrator resolve this issue?

A. Power off the virtual machine and disable vCPU hot plug.

B. Reinstall VMware Tools.

C. Modify the .vmx file to force NUMA and vCPU hot add to function.

D. Install a third party plug-in to enable NUMA and vCPU hot add to function.

Correct Answer: A

QUESTION 8

When installing vCenter Converter Standalone, why must an administrator perform a client- server installation instead of
a local installation?

A. to manage conversion tasks remotely

B. to convert virtual machines as well as physical machines

C. to allow installation of the Converter agent on remote source machines
D. to hot clone physical or virtual machines

Correct Answer: A

QUESTION 9

An administrator cannot enable multi-processor Fault Tolerance (SMP-FT) for a virtual machine.
Which are two possible causes for this? (Choose two.)

A. The virtual machine is running on a vSAN datastore.

B. The Fault Tolerance network is using a 10Gbit uplink.

C. The virtual machine has 6 vCPUs assigned.

D. The virtual machine has a 1TB VMDK attached.

E. The virtual machine has snapshots present.

Correct Answer: CE

QUESTION 10

Which three statements are correct regarding booting an ESXi Host from Fibre Giannel SAN? (Oioose three.)



A. Direct connect topology is supported.

B. Multipathing to a boot LUN on an active-passive array is supported.
C. ESXi hosts do not require local storage.

D. Each host must have its own boot LUN.

E. Hosts can share one common boot LUN.

Correct Answer: ACD

Explanation: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.storage.doc/GUID8FAD881D-7A00-43C9-AB69- 66DC7816968C.html

When you use boot from SAN with multiple ESXi hosts, each host must have its own boot LUN.If you configure multiple
hosts to share the same boot LUN, ESXi image corruption is likely to occur.Multipathing to a boot LUN on active-passive
arrays is not supported because the BIOS does not support multipathing and is unable to activate a standby path. The
correct answers are:- ABCDirect connect topology is supported. Each host must have its own boot LUN. ESXi hosts do
not require local storage.

QUESTION 11

In a vSphere 6.5 cluster of 6 nodes, memory usage is very high on hostl and host2, and network bandwidth usage is
very high on host3 and host4. The administrator needs to place hostl into maintenance mode.

How will DRS relocate virtual machines?
A. DRS will avoid placing virtual machines on hosts that are considered network saturated.

B. If DRS "VM Distribution” has been applied, virtual machines will be evenly distributed across the remaining hosts.
Host resource usage is not considered.

C. If "Memory metric for load balancing" has been disabled, virtual machines will be moved solely based on network
utilization. Memory usage is not considered.

D. Virtual machines will be moved only if host affinity rules have been configured.
Correct Answer: A

Reference: https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/techpaper/drsvsphere65-perf.pdf
page 6

QUESTION 12

Which is the correct sequence to upgrade a vSphere infrastructure?
A. vCenter Server > ESXi host > VMware Tools > VM compatibility
B. vCenter Server > ESXi host > VM compatibility > VMware Tools

C. ESXi host > vCenter Server > VMware Tools > VM compatibility



D. ESXi host > vCenter Server > VM compatibility > VMware Tools

Correct Answer: A
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